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3 easy steps to silicon heaven
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ROOQT 30

Signal (sensor 1) [e]

10000 20000

sknalcalgent
Nent = 26490

Maan = 249126

RMS =8871.18

ChI2/ ndf = 424596/ 40

Wiith = 13984 +-282573

MP = 20675+ 34.8963

Area = 2.072030+07 +- 136621
GSIgma_= 2556.42 +- 64.0897

Normalized to 300 um
Peak =21704.5e
FWHM = 90784 e
SNR=1576¢e
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Dress Rehearsals/Dry Runs
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corruption rate

Silicon was switched on
(no bhias)

- oy i ‘Pedestals were taken
" S AT St SRR -.u.-.------.--—- -:—ﬂu_—rw
“analyzes data i i,

<= Latchup client alarmed

Dlsl:rlbutor crashes frequently ‘ -
- Swapped string numbers

See talks of Zhengwei and Andrei (simple problem in DAQ)
' Pedestals look OK
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“dress rehearsal level 2
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Shift Ievel Dress Rehearsals in November \ =

dress rehearsal level 3






